1. Exam lll ... Thursday, December 6", ISB 135, 12:45-2:15pm
3 or 4 questions will be taken from Lab Owils 3, 4 and 5.

2. Final Exam ... Wednesday, December 12t", ISB 135, 8:00-10:00am
Final Review ... Sunday, December 9t ISB 135, 1:00-3:00pm
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9.3 What Happens When a Nucleus Emits Radioactivity

60,.Co is one of many radioactive isotopes whose
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9.3 What Happens When a Nucleus Emits Radioactivity
Positron Emission - Electron Capture — Alpha Emission
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9.3 What Happens When a Nucleus Emits Radioactivity
D - Positron Emission (°,,e) — Positron emission tomography
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4.5 Stoichiometry — Lab Owl — Review - Lab Owl 4

Calcium hydroxide is standardized by titration with 0.320 M solution of nitric acid.
If 38.5 mL of base are required to neutralize 23.4 mL of acid, what is the molarity

of the calcium hydroxide solution?

_Glod)yfap + 2MNOse]) = Ca(Nos)y + 2H:00

3%_.5m\- 0.3:10M}
M=7? 23.4 mL
#mo‘
M=V | #wmol = MYV (L) Ca(O\Da? M=

#med HNO; = 0.320 10,0234 = T.49X(6 nd!

_[.‘Hdeng? HNOB[‘ Galo g = 3.1'-}“63"\0?
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rq =

g md Cn(O\ho,
N (L)

374 %1073
0.0385
0.0973
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4.5 Stoichiometry — Lab Owl — Review - Lab Owl 4

mL of a 1.49 M hydrochioric acid soiution?
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How many grams of solid barium hydroxide are needed to exactly neutralize 12.7 \
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_BaloH)y o + gﬂd?(eq) = Be@y + AW0OM

v 9 121 }
1.4AM
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